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Evaluating Graphs Using Function Notation ‘

| 1. Given g(x) graphed. E =
a) What is the domain? e r-ﬁ/_ i ,%h-:
oo o M

(b) What is the ran%e\ deun, :
L J\,f7 .‘b?ié7 AN AN R
e o@=3 p EEaRE=susamsamasaus:
Loy TN ‘_; % u--‘==§§l- SEamamasal
os Vmmyi
0=3 i3 =§§.§é&§a=“=
g)=9 il 'x
Anent A o)
g-3=4 (3,4
(d)findxsothat'y K *4'\ ks 16 D
g = (. oy %=-10 (4@): .
(x) = 6 (.—.\ ()\ EXE ’\, (( L 2
5 B \ x 1 o ~T\
=9 ([, eGned@

leen the graph of: f(x) 2|x —1]—- 6

( )What is the domain? ( 7(}/?0\7 ‘R

(b) What is the range? D u
G g -
(c) find graphically and algebralcally

) = -4

?((,/-')IU 1} 6
T B N-6
=3-6~

H{ONC)

e (3)=312 16
= Q(VDL 5l\/




image3.jpeg
Practice:
Use the graph to find
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